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3XML�GDQ�V\XNXU�SHQXOLV SDQMDWNDQ�NHSDGD�$OODK�6ZW��DWDV�ULGDQ\D�SHQXOLV

GDSDW�PHQ\HOHVDLNDQ�SHQ\XVXQDQ�EXNX�WXJDV�DNKLU�LQL��$GDSXQ�MXGXO�WXJDV�DNKLU�

\DQJ� SHQXOLV DMXNDQ� DGDODK� ³,PSOHPHQWDVL� 1/3� 3DGD� &KDWERW /D\DQDQ�

$NDGHPLN�'HQJDQ�$OJRULWPD�%(57´��7XJDV�$NKLU�LQL�GLDMXNDQ�VHEDJDL�V\DUDW

XQWXN� PHPSRUROHK� JHODU� VDUMDQD� 6�� 3URGL� 7HNQLN� .RPSXWHU� )DNXOWDV� 7HNQLN�

(OHNWUR� 8QLYHUVLWDV�7HONRP��

'DODP� SHQ\XVXQDQ� WXJDV� DNKLU� LQL�� WLGDN� GDSDW� GLVDQJNDO� EDKZD� EXWXK�

XVDKD�\DQJ�NHUDV�GDODP�SHQ\HOHVDLDQ�SHQJHUMDDQ WXJDV�DNKLU�LQL��1DPXQ��NDU\D�LQL�

WLGDN� DNDQ� VHOHVDL� WDQSD� RUDQJ�RUDQJ� WHUFLQWD� GL� VHNHOLOLQJ� SHQXOLV�� GHQJDQ� LQL�

SHQXOLV� PHQJXFDSNDQ� WHULPD� NDVLK� NHSDGD� VHPXD� SLKDN� \DQJ� WHODK� WHOLEDW� EDLN�

VHFDUD� ODQJVXQJ� PDXSXQ� WLGDN� ODQJVXQJ� 3HQXOLV� PHQ\DGDUL� EDKZD� EXNX� WXJDV�

DNKLU� LQL� MDXK� GDUL� NDWD� VHPSXUQD�� 8QWXN� LWX� SHQXOLV� GHQJDQ� NHUHQGDKDQ� KDWL�

PHQJKDUDSNDQ�VDUDQ�GDQ�NULWLN�\DQJ�VLIDWQ\D�PHPEDQJXQ�GDUL�VHPXD�SLKDN�GHPL�

PHPEDQJXQ�WXJDV�DNKLU�LQL�

'HPLNLDQ�EXNX�WXJDV�DNKLU�LQL�GLVXVXQ��SHQXOLV�EHUKDUDS�EXNX�WXJDV�DNKLU�

LQL� GDSDW� EHUPDQIDDW� EDJL� SHPEDFD� GDQ� GDSDW� GLMDGLNDQ� UHIHUHQVL� GHPL�

SHQJHPEDQJDQ�\DQJ�OHELK�EDLN�
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3HQXOLV�


